Chapter 12 Homework 

12.1 If the objects are loosely coupled and the interfaces specified one can
a. add new objects without disturbing the interactions among the old ones

b. change the inards of an object while keeping its external interfaces the same

c. add a new service to an existing object without interfering with other existing services
d. distribute processing over multiple processors and machines, allowing system growth.
12.2 In a fat-client system, some of the application processing is carried out on the client whereas in a thin client system only the user interface is displayed on the client and all of the application processing is carried out on the server. The use of Java blurs the distinction as it allows the development of applets which can be downloaded to the client at execution time. Depending on the functionality of the applet, this allows a degree of control over the processing that is carried out on the client.

12.3  The system

a. may run on multiple processors.

b. have independent activities that communicate via well-defined interfaces

c. need the speedup afforded by parallel processing

d. need reduncancy for backup and restoring after failures

12.4
The legacy system may have been single user and one needs to allow concurrent access
It may not have been documented.

It may be in a language (e.g. Cobol) that your team does not know.
There may be more stress on the system as it is used to do tasks that may not have been anticipated before.

There may be no clear spearation between data management, application processing and information presentation. In older systems, these are usually all intertwined and it may be very difficult to disentangle these systems to produce the required separation.  As an example, consider the processing of inputs produced by the user from some standard form. The presentation of the form and the collection of data is clearly a presentation activity but, as the data is input, it is validated by the system. Some of this validation is in the data management system (e.g. is a number within range) but some is application specific and relies on checking relationships between different fields in the form (e.g. in a medical records form, if the sex is male then there should not be a record under the date of birth of the first child) that are not simple data check

12.8

12.12  

Standards allow programs on different hardware to communicate. This can reduce development costs and increase capabilities since it makes reusing existing software easier.
OTOH, the overhead of needing to communicate in a specific format may increase costs (e.g.  if I have to rewrite existing communication code).
